= AH O
N = 0 &8 AF S & Al A
20113 204 B3I LolsXY ~ oS X
AN LoI=XD
H: S SMETALT (A SR/ L0 - HAaH)
S©e: LsSASER (oA
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
Lol X 381,026,477 382,076,349 A 1,049,872
= 317,054,651
D 2,568,966
=2 19,424,220
= 41,978,640
CSMETALSHAIY X/ - HAA) 308,402,778 307,603,026 799,752
= 291,157,912
== 17,244,866
CSASEER 14,420,044 12,486,249 1,933,795
= 10,782, 155
< 3,637,889
OIS T AL & ARl 0129l 16,523 16,011 512
101 ol 24| 16,523 16,011 512
03 RI|HLZ2HE 16,523 16,011 512
OIS XA E AR 0120 16,523
oJlza 38,850& 12 *249L 9,674
OM0u2 9,674,000 *1/12%400% 3,225
Ox&4¢ 38,850 1H x5 2,021
O¢ X 38,850 x1H 15 583
QusSe2=xH| 60,0002 x1H %123 720
OHE S| 150,000 12«23 300
CodTEEXAMEEY 75,000 75,000 0
308 XX HHSOIA 75,000 75,000 0
01 AXSHMBAEEZS 75,000 75,000 0
OLogdielasXddge2Yy 75,000
EslRTp N TelPSE=gelf=Ye] R==gel 19,200 19,200 0
= 9,600
= 9,600
101 12 4] 19,200 19,200 0
=2 9,600
== 9,600
04 JIZtMI22XNHsEE2 19,200 19,200 0
CelRsTpNFelPSE=gel =Y ==Rel 19,200
= 9,600
< 9,600
COIATIEIAIS KA 14,004,321 12,178,038 1,826,283
= 10,772,555
< 3,231,766
308 XX SHHSOIA 14,004,321 12,178,038 1,826,283
= 10,772,555
[==4 3,231,766
01 AXSHMBIAEXZ 14,004,321 12,178,038 1,826,283
O oYXl Al 14,004,321
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SH o=
MR CEMENALSH(AMSEX /0l - BAY)
Sl AR AMYLOIZAOAl KD (el & 2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
307 QI2H0IH 20,000 20,000 0
10 AEI=SXEE 20,000 20,000 0
[t Q1o 8 Al 20,000
CUNSNSARAN 21,000 23,000 A2,000
308 XHXISHH SO & 21,000 23,000 A2,000
01 RASHZLRES 21,000 23,000 A2,000
O E2NYA2YT 21,000
LORSHRIBRY 472,208 251,168 221,040
= 236, 104
= 236, 104
307 Q1201 472,208 251, 168 221,040
= 236, 104
= 236, 104
EENEES 472,208 251,168 221,040
OLoEsael 2y 472,208
= 236, 104
= 236, 104
CUESHLSIBLYNYHEY 28,000 28,000 0
308 XHXIEHHI SO & 28,000 28,000 0
01 RACSHBLRES 28,000 28,000 0
OLoEsdSIBUALHSY 28,000
CORSHE)RHBYESY 221,990 0 221,990
= 155,393
= 66,597
307 QI2H0IH 141,990 0 141,990
= 99,393
= 42,597
10 AHEI= X2 141,990 0 141,990
DS HIH - MBHE SN (BE) 141,990
= 99,393
= 42,597
402 PI2AX RO 80,000 0 80,000
= 56,000
= 24,000
01 DIAX=EE 80,000 0 80,000
(S Il = O E B2 E Y XX 2 80,000
= 56,000
= 24,000
BB SMEDT 293,097,974 294,708,047 ~1,610,073
= 279,984,260
= 13,113,714
AW S A2 Y 48,300 48,300 0




A Lel=SX 1t
Yo L EMBT AL (AEET/ 20l - FAd)
CHel: EBIIB-EMBEE (s &)
_ _ PSEN=
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
308 AHXIEHHMSOIA 48,300 48,300 0
01 MXEHHMBdELS 48,300 48,300 0
OeH AN SAHESE 48,300
ol S A 5,000 5,000 0
307 2I2H0IA 5,000 5,000 0
10 MAISXEX 5,000 5,000 0
U&= 3 SAMEHE It 5,000
=g osid 292,244,674 294,639,747 A2,395,073
= 279,984,260
= 12,260,414
308 NXISHHMSOIE 292,244,674 294,639,747 A2,395,073
= 279,984,260
= 12,260,414
01 HXHMBLdE2ES 292,244,674 294,639,747 N2,395,073
WP R PN 292,244,674
= 279,984,260
= 12,260,414
DA DX HAIH AL 800,000 0 800,000
403 AXIHHSK=01H 800,000 0 800,000
01 XM= EE 800,000 0 800,000
ONSES2ETSAHAM DB Y 800,000
COIHMAEASEI(MII =X/ 0 - HAH) 28,195,839 18,578,174 9,617,665
= 20,098,387
Jl 2,568,966
= 5,528,486
el g=Eisad 3,260,183 2,433,026 827,157
Jl 2,568,966
= 691,217
NN PAR=Fall = Foape 25,000 0 25,000
308 AHXIEHHMSOIA 25,000 0 25,000
01 MXEHHMBdELS 25,000 0 25,000
OXI& 2SI A 2 25,000
XNHAEHEH2EEIIHE 7,000 7,000 0
201 B2 1,000 1,000 0
01 AtR22iHl 1,000 1,000 0
Og et =2l 600
O&ItHE W=l 600
Ded+d 400
OdIlHa A= 400
303 &= 6,000 6,000 0
01 Z&=3 6,000 6,000 0




SH: L=
HE: COIMUSASH(ASI SR/ =0 - HAH)
ol Lolo 2= S (el:@g
= — NUE &
SN FHH S (3H) - HREAY - BES Ofl Ak 04 il b o HRs2
SEPIEEP PSS 6,000
DY HY A LI 2Y 2,001,650 1,386,868 614,782
| 1,712,808
= 288,842
402 DIATROIA 750,000 0 750,000
| 750,000
01 DINTEEE 750,000 0 750,000
B EEESIES 750,000
| 750,000
403 XHXISHRI S XH20| & 1,251,650 1,386,868 ~135,218
| 962,808
= 288,842
01 MXSHT2LE 1,251,650 1,386,868 A135,218
R EEESEL-E-REED 1,251,650
| 962,808
= 288,842
X1 0N %0124 & ALY 151,321 126,866 24,455
| 116,401
= 34,920
308 X+XI IS Ol & 151,321 126,866 24,455
| 116,401
= 34,920
01 MXSHBABES 151,321 126,866 24,455
S IESIEFIE 151,321
| 116,401
= 34,920
XIOH AL 2RI A K| & 117,304 87,925 29,379
| 90,234
= 27,070
308 XHXI IS Ol & 117,304 87,925 29,379
| 90,234
= 27,070
01 MXSHBABES 117,304 87,925 29,379
CIXIOH AR 22 AL 117,304
| 90,234
= 27,070
X104 X1 2 51 X 2 AL 2 844,380 811,996 32,384
| 649,523
= 194,857
308 XHXI G S Ol & 844,380 811,996 32,384
| 649,523
= 194,857
01 RXESHBALES 844,380 811,996 32,384
CIXIOH X1 2 HI K| 2 AFel 844,380
| 649,523




SA Lol=T| D
HH: LOIMUBASE (AS =X /-0l - HAE)
ool Loloa=XEa CEEE
_ _ _ HEC
2N - FHH..2A(SH) - HIEAMY - BHAS 0| AFCH ioﬂ/ix_FOH Hlw=2
| < 194,857
HUTAUE 20,000 0 20,000
308 X% CHAIS 0| ® 20,000 0 20,000
01 MHASHZARE2 20,000 0 20,000
(124 2 &40 S5 BF Al H Ot 20,000
CELNROUEA T ESHA 93,528 0 93,528
308 X% CHAIS 0| 93,528 0 93,528
01 MHASHHZAEED 93,528 0 93,528
(R LU 2858 XD 7 X 93,528
LT RAMHASE 12,710,956 12,016,577 694,379
= 10,561,187
= 2.149.769
e 78,000 58,000 20,000
307 0I2H0| & 78,000 58,000 20,000
10 NBIZXEE 78,000 58,000 20,000
SEEE=UE T 78,000
oo 17,280 17,280 0
308 XXl CHHI S 0| & 17,280 17.280 0
01 REACHZARED 17.280 17,280 0
BEISC T 17,280
SoletL oIS BT YR 132,600 79,560 53,040
308 XX CHAIS 0| ® 132,600 79,560 53,040
01 X SHHZAEED 132,600 79.560 53,040
(2oL oius ez 2 132,600
T A S T b O ALAFH) 191,625 146,000 45,625
308 X% CHAIS 0| 191,625 146,000 45,625
01 MHASHHZALE2 191,625 146,000 45 625
O A S b ©1 ALAFHI 2 (0] 2) 191,625
HEAgRE DA 249,600 187,200 62,400
308 XX SHAIS 0| 249,600 187,200 62,400
01 HRSHHZAEED 249600 187,200 62,400
OZ2AU92224(0/2) 249600
LOIPANERY DR 45,520 45,520 0
201 P Ay 29,000 29,000 0
01 Ar22lh| 9.000 9,000 0
Osa gy 7,500
ORUABEANAESS 7,500
negsc 500




SN o=
M COIHMULAST(AE =X/ =0 - HAH)
cholr LoIX A ASE (s &
- _ _ HEE
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
OLQEASAENIARLLS 500
mEET] 1,000
OLEASHYLZAZ A 1,000
02 2329l 20,000 20,000 0
OJZ2ZQ=22HAl 20,000
OQUESAYRERLSHEE 20,000
202 o4l 11,520 11,520 0
01 2L 11,520 11,520 0
2 =F 0| 11,520
203 ¥RFXY| 5,000 5,000 0
03 AIBEXYREXY] 5,000 5,000 0
OLEASRNYLFEX 5,000
S QISR E AR ALY 4,939,906 5,022,069 A82,163
2 4,377,132
== 562,774
308 XHXIEHH SO01& 4,939,906 5,022,069 182,163
2 4,377,132
== 562,774
01 IXNSHBLMEZS 4,939,906 5,022,069 ~82,163
(S 1o 0l M 8 2H2| AHIH A ALY 4,939,906
2 4,377,132
& 562,774
SHCSSHNESE0IAIY 122,434 129,000 NB,566
2 108,486
= 13,948
308 AHXIEHH S01& 122,434 129,000 16,566
2 108,486
== 13,948
01 IXNSHBLEES 122,434 129,000 NB,566
OSAHEQS3ANS20IALY 122,434
2 108,486
= 13,948
SACQ 20/ THA ALY 20,000 20,000 0
307 2I2H0IA 20,000 20,000 0
10 AlBI=XIEX 20,000 20,000 0
OSAHCQIMER2 A3 20,000
LOER0IN(EX) 6,856,713 6,104,514 752,199
2 6,075,569
= 781,144
308 XHXIEHH SO0l 6,856,713 6,104,514 752,199
2 6,075,569
== 781,144
01 MIRSHHINEEZ 6,856,713 6,104,514 752,199




2M: Lol=x
M LOIOMMABAHASX(AIZ SR/ 0 - HAH)
S LoXAMEIAES EEEEE]
_ _ _ AT
2N -3 - c2(3H) - NEME - HES Ol &F2H lOﬁ/l\_Fo” Hns
O s=20|IHR A& 6,856,713
= 6,075,569
< 781,144
A= olMER U &It 40,000 40,000 0
307 212t01& 40,000 40,000 0
10 Af2l=XIEX 40,000 40,000 0
Od=2-olME U3 &It 40,000
LOIEDIQABEHANZAS 22|02 12,278 12,434 N 156
101 Q1A H| 12,278 12,434 N 156
04 JIZtMIZ22NHsSE 12,278 12,434 AN 156
OQLALDSAIAIA 22|02 12,278
oJleaz 38,850 * 13 %249 9,674
OH Xt 38,850& x1H 15 583
OxFsY 38,850& x1H x52 2,021
COIBAAIG 2 AN R X ASHX| & 5,000 5,000 0
201 2BEr24d| 5,000 5,000 0
01 At22telyl 5,000 5,000 0
Ogxs 5,000
OLoBAHAMNIZAAMRXAS A S 5,000
SAFAIE & X 12,224,700 4,128,571 8,096, 129
= 9,537,200
= 2,687,500
SIEAEEXALS 11,162,200 4,128,571 7,033,629
= 8,662,200
= 2,500,000
403 XX SHHSK=201H 11,162,200 4,128,571 7,033,629
= 8,662,200
== 2,500,000
01 AXEHMA2EE 11,162,200 4,128,571 7,033,629
OSHEAE A X ALY 11,162,200
= 8,662,200
= 2,500,000
AASZHALS 1,062,500 0 1,062,500
= 875,000
== 187,500
403 XX SHHSK=201H 1,062,500 0 1,062,500
= 875,000
= 187,500
01 AXESHMA2EE 1,062,500 0 1,062,500
OXNHAEES 1,062,500
= 875,000
& 187,500




M Lol=Xot
o COASSN S (AEEX/ 0l - FAH)
Rl ZHINE2E RN (etel: =3
_ _ SIEN
SN EB -GS - MBAY - BES 01l &k o il ot o HZ2
LOANAESRESE (AE SR/ 0 - Had) 44,410,020 55,877,309 A 11,467,289
= 5,798,352
= 19,424,220
& 19,187,448
COHIIAEZ2SEXE 2,866,784 2,952,800 A 86,016
Lolnaed 90,900 90,000 900
308 MXISHHSOIE 90,900 90,000 900
01 XM EXS 90,900 90,000 900
OLwa=2d 90,900
22EXE 2,680,884 2,575,800 105,084
308 MXIHHSOIH 2,680,884 2,575,800 105,084
01 MXEMISELS 2,680,884 2,575,800 105,084
OZ2YSEAZHI(01) 1,694,055
OZ2g 22 X&(01) 950,829
OZ =& d3AIS (01F) 36,000
A& Z2d2d 30,000 30,000 0
307 QI2t0I A 30,000 30,000 0
10 AtaISXIEX 30,000 30,000 0
OF2E=s T2 )32Y 30,000
LolEsasNd 65,000 57,000 8,000
308 NXIHHSOIH 65,000 57,000 8,000
01 XM EXS 65,000 57,000 8,000
Lyovos o= ==2d 20,000
CIYOYOS EH & 43t A& 45,000
LA=EXNALEES 7,495,890 12,721,534 Nb,225,644
= 5,589, 146
= 1,906,744
LosX2HE 230,000 200,000 30,000
403 XXM SK=01H 230,000 200,000 30,000
01 AXESMA2E = 230,000 200,000 30,000
OLolsSX A8 (01) 200,000
O sX2H2LSHAL 30,000
LREXNAEI I sELAY 7,265,890 12,521,534 N5,285,644
= 5,589, 146
= 1,676,744
403 AXIHHSA=201H 7,265,890 12,521,534 Ab,255,644
= 5,589,146
= 1,676,744
01 RXSHMA2E = 7,265,890 12,521,534 Ab,255,644
OIS XAIEIIsE2AE 7,265,890




SH: L=
HA: OAMSNSE (MESX/ =0 - FAH)
Sl LoI=RIALEE (25l &2
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 0l ot o HnE2
= 5,569, 146
= 1,676,744
co=xAEeY 34,047,346 40,202,975 16,155,629
= 209,206
= 19,424,220
= 14,413,920
OIS X AlE AKX 78,300 54,000 24,300
308 XHXISHHISOIH 78,300 54,000 24,300
01 MASHHBAHSES 78,300 54,000 24,300
ONE2sEER2 42,000
[ QIS TIAIE QA RHEH R A LT Y| 6,300
DL QURAILTR I 2 X2 30,000
COSTALSER 1,116,040 1,132,920 16,880
307 2120l H 14,400 12,000 2,400
10 AEIZREE 14,400 12,000 2,400
OCQEXALSY Y BHE 14,400
308 XIXIEHHISOI& 1,101,640 1,120,920 £19,280
01 MHXSHHBAHBES 1,101,640 1,120,920 £19,280
DML Q=N ALT RN 37,440
D= Q=X AL S AR &S 1,064,200
COIAE20Y 32,373,700 38,673,000 6,299,300
= 19,424,220
= 12,949,480
308 X+XIEHHIS O & 32,373,700 38,673,000 6,299,300
= 19,424,220
= 12,949,480
01 MHXSHBA2ES 32,373,700 38,673,000 6,299,300
D= QY2 AL HHIXIH(01Y) 1,963,851
= 1,172,311
= 781,540
D= QUALSHXIA(01Y) 30,419,849
= 18,251,909
= 12, 167,940
CONARNRYREE 35,420 30,420 5,000
201 LBty 3,900 3,900 0
01 AtR2elt] 3,900 3,900 0
mIEIE=1] 2,400
OLQNE AL R4S H| 2,400
O2g+9 500
OLoANMNB2Y 2L 500
BEET 1,000
OL QA& AR ET S| 1,000
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SN =R
M COALEXST(ME2X/ =0 - HAH)
cel: CoExAEed (ctel &9
- _ _ HEE
SN BHG(SH) - NRAY - BES Of) &k o 0l ot o Hm= 2
202 Ol 11,520 11,520 0
01 201l 11,520 11,520 0
QA& X9 2 =70 | 11,520
203 Y2 =AM 5,000 5,000 0
03 AlIZ=RYDREY 5,000 5,000 0
LA SR ER 5,000
307 QI2+0IA 15,000 10,000 5,000
10 AlBI=XEX 15,000 10,000 5,000
OIS RAIE XA S AALY 15,000
HEADANERIBOIXA(EX) 209,206 77,955 131,251
2 209,206
308 XX EHASOIA 209,206 77,955 131,251
2 209,206
01 IXNSHBLEZS 209,206 77,955 131,251
(Y= B AERIBHOIX| & 209,206
2 209,206
AHEHRIBHOI X & 50,000 50,000 0
308 XX EHAISOIA 50,000 50,000 0
01 MXSHHBAEES 50,000 50,000 0
CIAFSRIBID B e 2 ALY 50,000
Mt =xNdEey 184,680 184,680 0
308 XXl SHAISOIA 184,680 184,680 0
01 IXNSHBLEZS 184,680 184,680 0
OMIt=QISXIME 2D (01Y) 184,680
HHSHAHI (==X (JIEHIIEH 17,840 17,840 0
J123| 17,840 17,840 0
Jl23| 17,840 17,840 0
201 et 9,000 9,000 0
01 AtR2+2lt] 9,000 9,000 0
I =a] 6,900
ONREEIRYS 6,900
Oeg+g 300
OLo=EXgRFr2d4+Y 300
mEEL] 1,800
OokosxgesExa 2 1,800
202 Ol 8,840 8,840 0
01 2LHoiHl 8,840 8,840 0
Oy ERNY| 8,840
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